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SOLUTION OF TIME AND WORK

1.(c)

eff 3

1818

6 9

+

Days

(A) (B)

A’s one day work (A dk ,d fnu dk dk;Z) =
3 units

B’s one day work (B dk ,d fnu dk dk;Z)
= 2 units
(A + B) Complete the whole work in

(A + B iwjs dke dks [kRe djrs gSaA) :
T .W

BAofeff

W.T

  = 
23

18

 = 3.6 days

2. (a)

60

+ 3

4 days work of A and B is 7 × 4

= 28 units
work left 60 – 28 = 32 units

workTotal

workstRe
= 

60

32

fraction = 
15

8

3.(c) Cultivate in 1 day

A can cultivate 
5

2
th of land in 6 days

A Hkwfe dk 
5

2
 ok¡ Hkkx 6 fnu esa tksrrk gSA

A can cultivate1 part of land in

6×
2

5
 = 15 days

(rc A }kjk dqy Hkwfe dks tksrus esa fy;k x;k le;)

B can cultivate 
3

1
 rd of land in 10 days

(B }kjk Hkwfe ds 
3

1
 Hkkx dks tksrus eas fy;k x;k le;)

B can cultivate 1 part of land in 30 days

(B }kjk dqy Hkwfe dks tksrus esa fy;k x;k le;)

30

T.W = 30 units

5

4
 th of work = 30

5

4
 = 24 units

5

4
 th work done by A + B in

= 
3

24
days = 8 days

4.(a) If A does a work in 18 days.

(;fn A ,d dke dks 18 fnu esa djrk gS)

ATQ, (iz'ukuqlkj)
B does same work in 9 day.

(B }kjk mlh dke dks djus esa fy;k x;k le;)

18 (T.W)

=
6

1

18

3
 part

5. (c)

++4 2

24 (T.W)

A + B + C = 
7

24

= 
7

3
3 days

6. (c)  Concept

+ +

Description:
* In these kind of Questions, always
take total work [T.W.] as L.C.M of
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no of days. Here T.W. is 60. (bl rjg

ds iz'u esa] ges'kk fnuksa dh la[;k dk y?kqrel ekIorZd dqy dke ds fy,

fy;k tkrk gSA ;gk¡ dqy dke gSA)
* If A + B complete the whole work
in 12 days, so their one day work
will be 5 unit. Similarly we will

calculate the one day work for other

two pair. ( ;fn A + B iwjs dke dks 12 fnu esa

djrs gS] bl izdkj mudk ,d fnu dk dke 5

unit gS blh rjg ls nks vfrfjDr tksM+ks dk ,d

fnu dk dke ysuk gksxkA)
(Here, 12 unit represents twice of
the work done by A, B and C. So we

will divide it by 2) ( ;gk¡] 12 unit dke

A, B rFkk C dk nqxuk dke n'kkZrk gSA)
work done by (A + B + C)/day ,

(A + B + C) dk izfrfnu dk dke = 
2

12

= 6 units/day

 Total time taken by (A + B + C)

{(A + B + C) }kjk fy;k x;k dqy le; }

,day/)CBA(bydoneW.T

workTotal



6

360
= 60 days

8.(d)

If they have to complete the 12 units

work in
4

1
 of day . (;fn os 12 units

dke dks 
4

1
 fnu esa djrs gSA)

So it mean their combined efficiency

should be 48 units/day. (bl izdkj

mudh feykdj dk;Z{kerk 48 units/izfrfnu gSA)
(1man + 1woman)’s efficiency
= 4 + 3 = 7 units

unit left = 48 – 7 = 41 units

Now No of boys required (vc] yM+dksa

dh dqy vko';drk gSA)

= boy41
1

41

boyaofeff

W.T


9. (b)

A + B + C work 13/2 units/day

A + B work 6 unit/day
C work/day= [(A + B + C)–( A + B)]

120
6

1

2

13
 unit/day

C will finish in 
2

1

60

=120days

10. (b)

If (A + C)’s one day work = 6 units
and A’s one day work = 3 units then
C’s one day work = 6 – 3 = 3 units.

(B + C)’s one day work = 4 units

then B’s one day work = 1 unit (;fn

(A + C) dk ,d fnu dk dke 6 units gS vkSj

A dk ,d fnu dk dke 3 units gS] rks C dk

,d fnu dk dke 6 – 3 = 3 gS] B vkSj C dk

,d fnu dk dke 4 units gS] rks B dk ,d fnu

dke 1 unit gSA)
B can complete the whole work in

(B lkjs dke dks dj ldrk gSA)

12
1

12

Bofeff

W.T


11. (b) ATQ, (iz'ukuqlkj)

work done by A + B per day (A + B

dk izfr fnu dk dk;Z) = 3 units

work done by A/day (A dk izfr fnu dk

dk;Z) = 2

So,
The portion of the work done by A

(A }kjk fd;s x;s dk;Z dk Hkkx gS) =
3

2

13. (d)

If A and B worked till last with
same efficiency. Then their profit/

wages will be divided in the ratio of

efficiency ( ;fn A vkSj B leku dk;Z {kerk

ls vafre rd dk;Z djrs gS rks mudk ykHk@etnwjh

mudh dk;Z {kerk ds vuqlkj foHkkftr gksxk)

14. (d) A can do 
2

1

of a piece of work in
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5 days (A 
2

1

dk;Z dks 5 fnuksa esa djrk gS)

A can do 1 unit of the work in (A 1

bdkbZ dk;Z [kRe djrk gS)
1

25 
 = 10 days

Similarly B complete 1 unit of work

in (bl izdkj B 1 bdkbZ dk;Z [kRe djrk gS)

= 
3

59 
= 15 days

C complete 1 unit of work in ( C1

bdkbZ dk;Z [kRe djrk gS)= 12 dsys

= A + B + C one day work

= 15 units

  They will complete the whole

work in (os iwjkdk;Z [kRe djsaxs)

15

60
 = 4 days

15. (a) A man and a boy get ‘ 800 for 5

days ( ,d vkneh vkSj, dyM dk 5 fnuksa ds

fy, # 800 izkIr djrs gS)

A man and a boy get Rs.
5

800

= 160 for

1 day. (,d vkneh vkSj ,d yM+dk ,d fnu

ds fy, #
5

800
= 160 izkIr djrs gS)

If man is twice efficient than boy.
So their efficiency will be in ratio

of ( ;fn vkneh] yM+ds ls nqxquk dq'ky gS rks mudh dk;Z {kerk dk

vuqikr gS) 2 : 1. ( M : B)

Daily wages of the boy is (yM+ds dk

izfr fnu dh etnwjh gS)
3

1
53.Rs160

3

1


16. (b) Try to solve these kind of question
by option
Because of his being absent he was

paid Rs. 750 less Now check with
option. Since max. possible daily
wages is asked so it will be 250

(bl rjg ds iz'u fodYiksa }kjk gy djsaA dke ls

mls vuqi fLFkr gksus ds dkj.k # 750 de feyrs

gS) .

or
It is required to find the highest

common factor (HCF) of 5750 and

5000 (bldks gy djus ds fy, 5750 vkSj

5000 dk HCF ysrs gS)

17. (d)

2(A + B + C) = 9 units/day

A + B + C = 
2

9
units/day

(C + A) = 4 unit/day

B’s one day work = 
1

4

2

9


= 
2

1
unit/day

1

224

Bof.eff

W.T 
 = 48 days

18. (a) Let total work be 50 units

(ekuk dqy dke 50 bdkbZ gS)

5

4
× any multiple of 5 (5 dk dksbZ Hkh xq.kd)

A does 
5

4
 th of work 50

5

4


= 40 units in 20 days

So,

A does 2 units/day (A dh {kerk cjkcj 2

bdkbZ@fnu)

work left ('ks"k dk;Z): 50 – 40 = 10 units

A’s 3 days work (A dk rhu fnu dk dke)
= 2 units/day × 3 days
= 6 units

  Left work ('ks"k dk;Z) = 10 – 6 = 4 units

So,

B’s work per day (B }kjk izfr fnu fd;k

x;k dke) = 
3

4

B’s will do whole work = 
3

4

50

= 
2

1
37  days

(dqy dke djus esa B }kjk fy;k x;k le;)
19. (c) Let total work be 1 unit

(ekuk dqy dk;Z 1 bdkbZ)

A and B completes 
10

3

10

7
1  of

work in 4 days.

(A vkSj B feydj dk;Z ds 
10

3
 Hkkx dks pkj fnu

esa djrk gS)
They will complete the whole work in

(os dqy dke dks iwjk djsaxs)

10

3
 work in 4 days

1 work in 
3

1
13 days

20. (c)

= 2(A + B + C) = 15
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(A + B + C) = 
2

15
 units/day

(A + B + C)’s 10 day work = 10
2

15


= 75 units
work left 120 – 75 = 45 units

Now A will do remaining work in

(vc A cps gq;s dke dks [kRe djsxk)

A’s work (A dk dke) 

(A + B + C) – (B + C) 
2

15


2

5
units/day

A will complete (A dke iwjk djsxk)

day182
5

45

day/unit

W.T   = 18 days

21. (c)

efficiency (dk;Z {kerk) of C

= A + B + C – A – B

= 6 – 3 – 2 = 1 unit/day

efficiency (dk;Z {kerk) of B = 2 units

efficiency (dk;Z {kerk) of A = 3 units

Share/profit of C (C dk fgLlk@ykHk) =

amountTotal
.effTotal

Cof.eff


4500
6

1   = Rs. 750

25. (b) A completes 
3

1
unit of work in 5 days

(A 
3

1
dk;Z dh bdkbZ dks ik¡p fnuksa esa djrk gS)

A complets 1 unit of work in (A ,d

bdkbZ dk;Z [kRe djrk gS) days153
1

5


B complets 
5

2
unit of work in 10 days

(B 
5

2
dk;Z dh bdkbZ dks ik¡p fnuksa esa djrk gS)

B complets 1 unit of work in (B ,d

bdkbZ dk;Z [kRe djrk gS) 5
2

10
 = 25 days

(A + B) one day work = 5 + 3 = 8 units

(A + B) complete whole work in

= 
8

3
9

8

75  days

26. (b)

C’s efficiency is (A + B + C)’s efficiency

(A + B)’s efficiency 8 – 7 = 1 unit/day
So, C’s share will be in ratio

27. (c)

Son’s efficiency = 5 – 3 = 2 units/days

Son will do in
2

15
= 7.5 days

29. (c)

B’s one day work (B dk ,d fnu dk

dk;Z) = 2 units/days

A’s one day work ( A dk ,d fnu dk

dk;Z) = 3 – 2 = 1 unit/day

4 days work of ‘B’ = 4 × 2 units/

days = 8 units
work left = 24 – 8 = 16 units
A will complete the remaining work

in (A cps gq,s dk;Z dks [kRe djsxk)

day/unit1

units16
= 16 days

30. (a)

A’s one day work (A dk ,d fnu dk dk;Z)
= 4 – 2 = 2 units.

B’s one day work (B dk ,d fnu dk

dk;Z) = 3 – 2 = 1 unit

C’s one day work (C dk ,d fnu dk

dk;Z) = 2 – 1 = 1 unit

A and C complete the whole work

in (A vkSj C iwjk dk;Z [kRe djsaxs)

 = days8
12

24

BAof.eff

W.T







33. (c) P completes 
4

1

of work in 10 days

P completes full of work in

4
1

10
 = 40 days

Q completes 40% of work in 145 days
Q completes full 100% of work in

= 100
40

145
 = 362.5 days

R completes 
3

1
of work in – 13 days

R completes full of work in 3
1

13


= 39 days

S completes 
6

1
of work in 7 days

S completes fu                    the whole work in

=
3

60
= 20 days

            units = 25 × 11 = ‘ 275
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38. (a)

A + B one hour work = 7 unit

  (A+B)’s 8 hours work = 8 × 7

= 56 units/day
(A+B) complete the whole work in

(A+B iwjk dk;Z [kRe djrs gS) = 
56

168

= 3 days
39. (a)

A and B do 5 units/hour so they
will do 5 × 8 = 40 units in 8 hours

or a day. and the whole work will

be complete in = 
day/units.40

W.T


40

120
  3 days

41. (a)

(2 men and 8 women)’s one day

work is
= [(2 × 3)+ (8 × 2]
= 6 + 16 = 22 units

In 2 days (2 men + 8 women) will
do = 44 units Remaining work
60 – 44 = 16 units will be complete

by boys in 2 days. (cps gq, 16 bdkbZ dk;Z

dks yM+ds }kjk nks fnu esa [kRe gksrk gS)
So, 8 units of work will be done
by boys in 1 day and one boy does

one units/days. So 8 boys are
required to do 8 units.
= 8 boys

43. (c)

(M + W) one day work = 5 units
M’s one day work = 4 units

So,
woman’s one day work = 5 – 4
= 1 unit

Woman will complete in =

1

40
 = 40 days

45. (a) A can do
6

1
of work in 5 days

A can do 1 of work in 6
1

5
 = 30 days

B can do
5

2
 of work in 8 days

B can do 1 of work in 
2

5
8  = 20 days

efficiency

30
(A)

20
(B)

days

T.W
60

3 units/day

A and B will complete the whole

work in = days12
32

60




46. (a)

units/day 2

20
(A)

40
(B)

days

T.W
40

1

(A + B)’s one day work is (2 +1)units

(A + B)’s 5 day work is 3 × 5 = 15 units
work left = 40 –15 = 25

fraction of work left (cps gq, dk;Z dk

Hkkx) = 8

5

40

25

worktotal

leftWork


48. (b)

efficiency 7

12
(A+B)

28
(A)

days

T.W
84

3

B’s efficiency = (A + B) –A
= 7 – 3 = 4 units/day

B can dig it alone in
 = 21 days

49. (d)

Wages    Rs./day 4

21
(A)

28
(B)

days

T.W
84

3

(A+ B)’s one day wage = 4 + 3 = Rs.7
Money(Rs.84) is sufficient to pay wages

for (84 :i;s fuEu fnuks ds fy, vko';d gS)

 wagesdayone

)moneytotal(

)34(

84



 12 days

50. (b) (A + B + C)’s one day earning (A +

B + C ,d fnu dh dekbZ) = Rs.150
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(A + C)’s one day earning (A + C ,d

fnu dh dekbZ)= Rs. 94

B’s one day earning( B ,d fnu dh dekbZ)
= (A +B +C) –(A + C)
= 150 – 94 = Rs. 56

(B + C)’s one day earning( B + C ,d

fnu dh dekbZ ) = Rs. 76

C’s one day earning ( C ,d fnu dh

dekbZ) = 76 – 56 = ‘ 20

53. (c)

 efficiency  6

10
(A+B)

6
(B+C)

12
(C+A)

days

T.W
60

45

2(A + B + C) = 21 units/day

day/units
2

21
CBA 

(A + B + C) will complete whole work in

T days
7

5
5

2

21

60


54. (b)

 Units/hour  2

9
2

(A+B)

3rd

(B+C)

hr hr
9
4

(C+A)

T.W
9

43

= 2(A + B + C) = 9 units/hours

hours/units
2

9
CBA 

(A + B + C) will complete whole work
i n

hours

2

9

9

day/units

W.T


175

55. (a)

 15

8
(A+B)

24
(B+C)

60
7

(C+A)

120

145

efficiency
2(A + B + C) = 34 units/day
(A + B + C) = 17 units/day

A + B = 15 units/day
So,

C = 17 – 15 = 2 units/day.
C will complete the whole work in

(C vdsyk iwjk dk;Z [kRe djsxk)

days60
2

120


58. (c)

 efficiency  5

72
(A+B)

120
(B+C)

90
(C+A)

T.W
360

43

2(A + B + C) = 12 units/day

(A + B + C) = 6 units/day
In 3 days.
A + B + C will do = 6 × 3 = 18 units

In 3 days the part of work will finish
in =

20

1

360

18

W.T

workdays3


59. (d) Skilled half skilled unskilled

6

1
:

4

1
:

3

1
efficiency

efficiency 4  :   3  :  2

Skill halfskill unskilled
No. of days worked =

60. (d)

 n efficiency

 days m
(A)

n
(B)

T.W
mn

m

efficiency of A and B = m + n
(A + B) completes the work in

nm

mn

)BA(efficiency

W.T






62. (c) A can do
4

1
units work in 10 days

4

1
( dk;Z dks 10 fnuksa esa dj ldrk gS)

A can do 1 unit of  work in (A 1 dk;Z dks dj ldrk

gS) days40

4

1

10


B can do
3

1
unit of work in 20 days
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(B
3

1
dk;Z dks 20 fnuksa esa dj ldrk gS)

B can do 1 unit of work in (B 1 dk;Z

dks dj ldrk gS) days60
1

320




 3 efficiency

 days 40
(A)

60
(B)

T.W
120

2

A + B can do whole work in (A+B iwjk

dk;Z dj ldrs gS)

days24
23

120




Ram’s efficiency (jke dh dk;Z {kerk)
= 6 – 5 = 1unit/day

Ram completes whole work in (jke

iwjk dk;Z dj ldrk gS)

days60
1

60

efficiency

W.T 

63. (b)

T.W
60

56

10
(Raj+Ram)

efficiency

day 12
(Raj)

Ram's efficiency (jke dh dk;Z {kerk)
= 6 - 5 = 1 unit/day

Ram's efficiency whole work in (jke iqjk dk;Z dj ldrk gS)

days60
1

60

efficiency

W.T 

64. (b) According to questions, (iz'ukuqlkj)
If the total work is 23 units A and C
completed 19 units together It

means 23 – 19 = 4 units is completed

by B(;fn dqy dk;Z 23 bdkbZ gSA rks

A vkSj C feydj 19 bdkbZ dk;Z djrs gS)

So amount paid to B is (rks B feyus okyh

jkf'k gS) = 100.Rs575
23

4


66. (d)

60

35

12
(A+B)

20
(A)

(A+ B)’s one day work (A+B dk ,d fnu dk dk;Z) = 5

units

A’s one day work (A dk ,d fnu dk dk;Z) = 3 units

B’s one day work (B dk ,d fnu dk dk;Z) = 2 units

B’s half day work (B dk vk/s fnu dk dk;Z) = 1 units

Now,

(A + B)’s work/day = 3 + 1 = 4 units

Work done by (A + B) in = 
4

60

=15 days
67. (a) According to question,

T.W
60

20
(A)

3 5 units/dayefficiency

days 12
(B)

9 days work of B is 9 × 5 units
= 45 units

Work left = 60 – 45 = 15 units Now, A will finish

remaining work in (Acps gq, dk;Z dks [kRe djsxk) 
3

15

= 5 days

68. (c)

T.W
48

623

16
(A)

24
(B)

efficiency

days 8
(A+B+C)

C’s one day work or efficiency is

6 – 3 – 2 = 1 unit
As we know, wages/Ruppes/profit
always divided in ratio of efficiency/

ratio of part of work done to total

work. (ge tkurs gS fd etnqjh@:i;s@ykHk ges'kk

muds dk;Z {kerk ds vuqikr esa foHkkftr gksrk gS)
Here,

69. (a) Earlier : Now

 No of worker        15 :      11
    Wages  22 :  25
 Total wages 330 : 275
 Total wages   6 :   5

70. (d)
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T.W
144

1234

36 48

efficiency

(Stanic)      (Paul)    (St+ pl+ Expert)

days 12

Expert’s efficiency

(fuiq.k O;fDr dh dk;Z {kerk) : 12 – 4 – 3 : 5 units

Remuneration of expert:

(fuiq.k O;fDr dh etnwjh)

12000.Rs800,28
12

5


71. (d) According to the question,

Total work
150

A

6 5

25 30
B

 A does 6 units in 1 day
B does 5 units in 1 day

 Total work of (A+B) in 1 days
= 11 units

In 5 days (A+B) work = 11×5 = 55 units

 Work left = 150 – 55 = 95 units

30

19

150

95
Ratio 

72. (c)

  

x = 4hr

y = 8hr

2

1
8

x +y = h
3

8
= 160 minutes

73. (c)

1
4

X= 2

3
48

w = 6 D = 24D

w = 12 D = 16Dy=
3
4

days
5

3
9

5

48
)yx( 

74. (a)

39

120

Efficiency

workTotal
daysof.No 

days
13

1
3

75. (d) Janardan completes
3

2
of work in in 10 days (tuk/

Zu
3

2
dke iwjk djrk gS)

Janardam complete 1 of work in (tuk/Zu
5

3
dke iwjk djrk

gS)

days9
5

3
15 

76. (a)

T.W
60

1254

15
(A)

5
(A+B+C)

12
(B)

efficiency

days

C’s efficiency = 12 – 5 – 4 = 3
C’s share:

300.Rs1200
12

3


77. (d)

60

1245

12
(A)

5
(A+B+C)

15
(B)

efficiency

days

Now,

x 80 x 80

Rs.960 Rs.400

(A+B+C)       :       A

          12               5

78. (c)

(T.W
48)

164 36

8
(I )st

12
(II )

nd

16
(III )

nd
3

(I+II+III+IV)

efficiency

days

efficiencypersonVIth
=16-6-4-3=3 units

225.Rsunits3

75units1

1200units16





77
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79. (a)

(T.W
48)

823

16
(A)

24
(B)

6
(A+B+C)

efficiency

days

C’s efficiency = 8 – 3 – 2 = 3 units

x50x50x50x50

Rs.150 Rs.150Rs.100 Rs.400

(A       :       B   C             Total
           3               8

:
:: =

80. (b)

(T.W
60

345

12
(A+B)

15
(B+C)

20
(C+A)

efficiency

days

efficiency of 2(A + B + C) = 12 units/day
(A + B + C) = 6 units/day

A’s efficiency (A dh dk;Z {kerk)
= (A + B + C)’s – (B + C) efficiency
= 6 – 4

A’s efficiency (A dh dk;Z {kerk)= 2 units/day

A can complete the whole work in

(A iwjs dk;Z dks dj ldrk gS)

days30
2

60

efficiency

W.T 

81. (b) Let total work efficiency (ekuk fd

dqy {kerk)

18

1
L.cm

3

A+B
6 days

A
(18 days

efficiencies of
A+B = 3
efficiency of A = 1

then B’s = 3 – 1 = 2

 time, taken by B to finish

the work (B }kjk dk;Z dks lekIr djus esa

yxk le;) 
2

18

efficiency

workTotal 

= 9 days

82. (b)

24[T.W]

2 x 4

8 12 ? 6

3

days

eff.

(A+B)    (B+C)    (C+A)    (A+B+C)

Let efficiency of (C+A) is ‘x’ unit per

day (ekuk fd C+A dh izfrfnu {kerk x

;wfuV@izfrfnu)

A+B+C one day work (A+B+C dk ,d

fnu dk dk;Z) = 4 units

2(A+B+C) one day work 2(A+B+C)

dk ,d fnu dk dk;Z) = 8 units

One day work of (A+B) + (B+C) +

(C+A) = 2 (A+B+C)
3 + 2 + x = 8, x = 3 units/day

Total days days8
3

24

.eff

W.T


83. (a) 60

A + B + B + C + C + A = 4 + 6 + 5

 2 (A + B + C) = 15

 (A + B + C) total effi. = 7.5

 Time taken by (A + B + C) to

gether to complete to the work

(A + B + C }kjk dqy dk;Z lekIr djus esa yxk le;)

5.7

60

effi

workTotal


= 8 days.
84. (b)

days2)CB(
10

3


days
3

20

3

10
2CB 

days2CBA(
2

1


A + B + C = 2  days

20

3
A = 5 - 3 = 2

5

4
A+B+C

20
3

B+C

A alone will complete the work

(A iwjk dk;Z vdsyk djsxk) days
2

20


= 10  days

85. (b)
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24

83

8
(A+B)

3
(B)

days

A construct in 6 day

6 × 3 = 18 units Construct
now work left after destroying by
B = 18 – 16 = 2 units

Now A will do 24 – 2 = 22 units

A completes in days
3

1
7

2

20


86. (c)

T.W
360

4=12 units/
days

5

72
(A+B)

90
(A+C)

120
(B+C)

days

2(A + B + C) = 12 units/days
(A + B + C) = 6 units/days

(B + C) one day work is 3 unit

A’s one day work is (A dk 1 fnu dk dk;Z

gS) = 6 units – 3units = 3 units/days

A will do whole work in (A iwjk dk;Z

[kRe djsxk) days120
3

360 

87. (d)

T.W
60

4=9 units/
days

5+ 3 +

30
(A+B)

15
(C+A)

20
(B+C)

days

work done by A, B and C together

(A, B vkSj C feydj dk;Z djsaxs)
2(A + B + C) = 9

Efficiency of A + B + C 
2

9


work done by A, B and C together

(A,B vkSj C feydj dk;Z djsaxs)
9

120

2

9

60


days
3

1
13

3

40


88. (d) Since we know efficiency and

time are inversely proportion to each

other. (pwafd ge tkurs gS fd dk;Z {kerk vkSj

le; ,d nwljs ds O;qÙkØekuqikrh gksrk gS] rks)

               P : Q
efficiency  3 : 4

time         4 : 3
89. (b) (6m + 8b)× 10 days

= (26m + 48b) ×2 days








 




2

222

1

111

w

dtm

w

dtm

30m + 40b = 26 m + 48b

4m = 8b
m = 2b

1

2

b

m 

1m (work) = 2 units/day
1b (work) = 1 unit/day
Hence,

Total work
= (6 × 2 + 8 × 1) × 10
= 200 units

Required time (vHkh"V le;)
(15m+ 20b)

days4
50

200

120215(

200 




90. (b) 5M × 6 days = 10W × 5 days

3M = 5W

3

5

W

M


1M (work) = 5 units/day

1W (work) = 3 units/day
Hence,
Total work = (5M × 6) = 5 × 5 × 6 = 150 units

Required time for (5W + 3M)

day/doneWork

workTotal


days5
30

150

)5335(

150 




91. (a)








 





1

111

1

111

w

dtm

w

dtm

mats260

days20B20

mats260

days20M10 




10M = 20B

1 M = 2B

1

2

B

M


 1M work = 2 units/day
  1B work = unit/day
Mats made by( 8M + 4B) in 20 days

matsx

days20)B4M8(

mats260

days20M10 




mx

days2020

m260

days20M10 




after solving,
x = 260 mats
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92. (c) ATQ,
3m×16 = 6w×16

womanofefficiency1

manofefficiency2

w

m






Total work = 3×2×16 = 96 units

One day work of (12m+8w) =
12×2+8×1 = 32 units

Total time taken by (12m+8w)
32

96


= 3 days

95. (d) ATQ,

3m×43 = 4w×43

womanofefficiency5

manofefficiency8

w

m






Total work = 3×4×43 units
One day work of (7m+5w) = 7×4+5×3
= 43 units

Total time taken by (7m+5w)

days12
43

4343 

96.  (a)

70

7 units10

7 men 10 women

efficiency (dk;Z {kerk) of (14 men

+ 20 women)

= (14 ×10) + (20 × 7)
= 140 + 140
= 280

Let ‘D’ days taken.

600

D280

100

10)107( 

D = 15179
97. (c)

12

12

6 men 12 women

work2

days)1616(

work1

2012 





2

days32
2012




days = 15 days

98. (a) According to question,
(2 men + 1women)×14days

= (2 men + 4 women)×8days

14 men + 7 women = 8 men + 16 women
6 men = 9 women

2 men = 3 women
1 man get = Rs.600/days

2 men get = Rs.1200/days
(wages always divided in the ratio

of efficiency) (etnwjh ges'kk dk;Z {kerk ds

vuqikr esa ck¡Vh tkrh gS)
So,
3 women will get = Rs.1200/days

{[2m = 3w]

1 woman will get = 400/days

99. (b) Jyoti does
4

3
unit of work in 12

days (T;ksfr
4

3
 dk;Z dks 12 fnuksa esa djrh gS)

jyoti does 1 unit of work in (T;ksfr 1

bdkbZ dk;Z dks djrh gS) days16
3

4
12 

According to question

100. (c) According to question
A   :   b   :   C

efficiency 2   :   1   :
  :   1

 4   :   2   : 1 units/days

(A+B)’s one day work is (4+2) units
= 6 units
and they complete in 4 days.

So total work : 6 × 4 = 24 units
and C completes whole work in

days24
day/units1

units24


101. (c) If no. of days remain same ( Like
in this question for men, women

and boys ( ;fn fnuksa dh la[;k leku gks rks

mudks cjkcj j[kk tkrk gS) , so it clearly

shows
1 man = 2 women = 3 boys

(It means work done by one man in
88 day will be done by 2 women in
88 days so this show efficiency)

1 man = 2 women

woman1man
2

1


similarly

man
3

1
boys1 

1 man + 1 woman + 1 boy will do
work in :

man
3

1
man

2

1
man1 

1 man does in 88 days
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days48
6

688
indoesman

6

11 

102. (b) Tapas : Mihir

efficiency     2 : 1
   units/day
T + M complete in 12 days

Total work 12 × (2 + 1) = 36 units
Tapas alone complete the whole
work in

days18
2

36


104. (a) 20M × 20 days = 24 W × 20 days

So, (30M + 12W) complete the whole

work in
24W × 20 = (30M + 12W) × x
24W × 20 = (36W + 12W) × x

24W × 20 = 48W × x
       x = 10 days

Alternate:

20M × 20 days = 24W × 20 days
5M = 6W

5

6

W

M


Total work = 20 × 6 × 20 units
Efficiency of (30M + 12W)
= 30 × 6 + 12 × 5

= 180 + 60 = 240

Required no. of days =
240

20620 

= 10 days

105. (b) 20W × 16 = 16M × 15
20W = 15M
4W = 3M

3

4

W

M 

  Man : Woman

          4 : 3

106.  (b) We can clearly see the clue that
(men + women) are half in second

case (ge ns[k ldrs gS dh nqljh fLFkfr es

vkneh + vkSjr dh la[;k vk/h gS)
So, 6 men + 8 women can do work
in 10 days
3 men + 4 women can do work in

10 × 2 = 20 days

107. (b) Equating the work (dke dks lerqY;

djusa ij)
(2M + 3W) × 10 = (3M + 2W) × 8

After solving
We get, 2M = 7W

2

7

W

M


Total work = (2 × 7 + 3 × 2) × 10
= 20 × 10
= 200 units

eff. of 2M + 1W = 2 × 7 + 2 = 16

 number of days
2

25

16

200 

days
2

1
12

108. (b)

Total work = (one day’s work
of A and B) × ( Total no. of days)

 ( 2 + 1 ) × 14

T.W = 42 units

A alone finishes in days21
2

42


109. (b)

)woman1man1(
work4

woman2men5




5 men + 2 women = 4 men + 4 women
1man = 2 women

1

2

woman

man


M :  W
2 :  1

110. (c) According to question,
8 men = 17 women
(Because they do a work in same no.

of days)

Convert men into women(D;ksafd osa leku

fnuksa es dk;Z djrs gSA)

3
2

3
2

Total work = 17×33×3

(Let 1 woman works 1 unit/day then
17 women will do 17 units/day)
12 men + 24 women

women
2

99
woman

1

42
women

2

51


 will do (17 × 33) work in

days343

2

99

3317





111. (a) Man : Woman

efficiency 3 : 2
one day’s work of a man and a
woman

= (3 + 2) = 5 units
Total work = 18 × 5 = 90 units
a woman can complete the whole

work in

days45
2

90

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112.  (a) (3 men + 4 boys)12 days
=(4men+3 boys)10 days 18 men +

24 boys = 20 men + 15 boys
2 men = 9 boys..............(i)
4 men + 3 boys = (2 × 9) boys + 3 boys

= 21 boys
21 boys can do a work in 10 days

(21 yM+ds dks 10 fnu esa [kRe dj ldrs gS)
Total work = 21 × 10 = 210 units
2 men + 3 boys = 9 boys + 3 boys
(from eq i)

= 12 boys

days
2

1
17

2

35

12

210


Alternate:
(3M + 4B)× 12 = (4M + 3B) × 10

2

9

B

M


Total work = (3 × 9 + 4 × 2)× 12
= 35 × 12 units
Efficiency of 2 men and 3 boys

= (2 × 9)+ (3 × 2) = 24

Time taken by (2M + 3B)
24

1235
)B3M2(




days
2

1
17

114. (d) 10 men = 20 women = 40 children
(efficiency of men, women and children

will be in calculated by this
ratio. As they complete work in same
days)

convert them in one figure:
10 men = 20 women

women5women1men
20

10


)i.....(men
2

5
5

2

1


5
4

1
children5child1men

4

1


)ii.....(men
4

5


5 men + 5 women + 5 children

men
4

5

2

5
5 



 

men
4

35

4

51020





Now.
If 10 men can do a work in 7 months
If 1 men can do a work in 7 × 10

If
4

35
men can do a work in

4

35

107 

= 8 months
Alternate:-
10M × 7 Months = 20W × 7 Months

= 40C × 7 months
10M = 20W = 40C

1M = 2W = 4C

Efficiency
1

C

2

W

4

M


Total work = 10 × 4 × 7 units

Efficiency of 5M + 5W + 5C
= 5 × 4 + 5 × 2 + 5 × 1
= 5(4 + 2 +1)

= 35 units/day
Time taken by (5M + 5W + 5C)

35

7410 


= 8 months
115. (c) According to question,

(2 men + 3 boys)×10 days

= (3 men + 2 boys)× 8 days
20 men + 30 boys = 24 men + 16 boys
2 men = 7 boys

2 men + 1 boy = 7 boys + 1 boys = 8 boys
from ist line:
2 men + 3 boys „± 7 boys + 3 boys

 10 boys Given

10 boys can do a piece of work in

10 days
1 boys can do a piece of work in 10
× 10

8 boys can do a piece of work in

days
2

1
12

8

1010



1

116. (c)

120

20 512

6

efficiency

days 10 24

(man +woman +boy) (man) (woman)
boy’s efficiency is = 20 – 12 – 5

 3 units/day

boy can complete the work in

days40
3

120


117. (d) 40 men = 60 women = 80 children
2 men = 3 women = 4 children
2 men = 3 women

women10men
3

2
women1 

men
3

20
10

3

2


Similarly

2 men = 4 children

children10men
2

1
children1 

men5
2

10


10 men + 10 women + 10 children
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= 10 men +
3

152030
5

3

20 

10 men + 10 women + 10 children

men
3

65

40 men can do a piece of work in 6
months

1 man can do a piece of work in 6 ×
40

3

65
men can do a piece of work in

3

65

406 

months
13

1
11

Alternate:
40 m = 60 w = 80 c
2 m = 3 w = 4 c

m : w : c = 6 : 4 : 3 (Efficiency)
Total work = 40×6×6 = 1440 units
Total time taken by (10m+10w+10c)

days
13

1
11

130

1440

Efficiency

workTotal 

118. (c)
T.W
15

3 5

5
(A+B)

efficiency

days 3
(2A+B)

Now,
assume A eff. is 2 units B’s is 1 unit.

(A dh dk;Z {kerk nks bdkbZ gS vkSj B dh dk;Z

{kerk ,d bdkbZ gS) So it satisfies the

equation of both cases
So actual efficiency of A is

2 units/day

A alone complete the work in (A vdsyk

dk;Z dj ldrk gS)

days
2

1
7

2

15

efficiency

W.T 

119. (c)

5 5 4

480

96hr 80hr 120hr

1M+3W+4B 2M+8B 2M+3W

2M + 8B = 6 units/hr
So, 1M + 4B = 3 units/hr

1M + 3W + 4B = 5 units/hr
3W + 3 = 5

3W = 2 units/hr

hr/units
3

2
W 

Now,
2M + 3W = 4
2M = 4 – 2 = 2

M = 1unit/hr
Hence,

2M + 8B = 6

2 + 8B = 6
8B = 6 – 2 = 4

5M + 12B will complete the whole
work in

11

480

2
12

480

15
B12M5

480 




.hrs
11

7
43

120. (d) (3 men + 7 women) × 5days

= (4 men + 6 women)×4days

1 men = 11 women
3 men + 7 women

= (3 × 11) women + 7 women = 40 women

40 women can do a work in 5 days
1 can do a work in 5 × 40 days

10 women can do a work in
10

405 

= 20 days

123. (a) Given

  4m + 6w   8 days

  32m + 48w   1 day ..... (i)

  2m+ 9w   8 days

  16m+ 72w   1 day........(ii)

  from equation (i) = (ii)

  32m + 48w = 16m + 72w

  32m – 16m = 72w – 48w

  16 m = 24 w

  2m = 3w

  Here, it is given that a group of

4m + 6 women can do the work in 8 days,

converting the whole equation into women.(fn;k gqvk

gS fd pkj vkneh rFkk N vkSjrsa fdlh dke dks vkB fnu esa dj ldrs gSa

vr% iwjl ehdj.k dks vkSjrksa esa cnyus ij)
  4m + 6w   8 days

  (2 × 2m)+6w   8 days

  (2×3w)+6w   8 days

  6w + 6w   8 days

  12w   8 days

  i.e 12 women can do the work

in 8 days (vr% ckjg vkSjrsa mlh dke dks vkB fnu esa dj l drh

gSa)
  Then a group of 18 women can

do the work (vr% vBkjg vkSjrksa dk l ewg

ml dke dks djsxk)
M1 × D1 = M2 × D2

12w × 8d = 18w × ?
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days
3

1
5

18

812
days 

124. (a) According to question,

  4m= 8w   15 days

  i.e 4m = 8w

  1m = 2w

  6m + 12w = ?

  Converting the whole group

intowomen (iwjs lehdj.k dks vkSjrksa esa cnyus ij)
  12w + 12w = ?

  24w = ?

  M1 × D1 = M2 × D2

  8w × 15 = 24 × ?

  days
24

458 


  days = 5

  Therefore, time taken by a group of 6m + 12w

is (vr% N vkneh rFkk ckjg vkSjrksa }kjk fy;k x;k le;) = 5 days

125. (a) According to the question,

15men = 20 days
300 men= 1 day ..... (i)
24 women = 20 days

480 women = 1 day ...... (ii)
Compare equation and (ii)
300 men = 480 women

5 men = 8 women ...... (iii)

  10men + 8 women = ?

10 men + 5 men = ?

15 men = ?
15men × 20 days = 15men × x days
x = 20 days

Alternate:-
15M × 20 days = 24W × 20 days

5

8

W

M


So, 1 man work 8 units work in one
day
and 1 women work 5 units work in

one day.  (,d vkneh izfrfnu 8 ;wfuV dke djrk gS rFkk ,d vkSjr

izfrfnu 5 ;wfuV dke djrh gS)
Total work = Hence, (10M + 8W)
work whole work in ‘D’ days

(10M + 8W) × D = 15 × 8 × 20
(10×8 + 8×5) × D = 15 × 8 × 20
(80 + 40) × D = 15 × 8 × 20

D = 20 days
126. (c) According to question,

3 men = 5 women

(As they complete the same work in
same time)
6men + 5women = 6men + 3men

       = 9 men
If, 3 men does a work in 12 days
1 men does a work in = 12 × 3

9 men does a work in
9

312 

= 4 days
Alternate:-

3M × 12 = 5W × 12

2

1

W

M 

Total work = 3 × 5 × 12 = 15 × 12 =

180 units
Efficiency of 6 M+ 5W = (6×5 + 5×3)

   = 45

Time taken by (6M + 5W) =
45

180
= 4 days

127. (a) 10M × 12 days = 10W × 6 days
2M = 1W

2

1

W

M 

1M work = 1 unit/day
1W work = 2 units/day

Total work = 10M × 12 days = 10 × 1× 12
= 120 units

Time required (vHkh"V le;) (10M + 10W)







{kerkZdk;

le;dqy

.eff

workTotal

days4
30

120

210110

120 




128. (a) Let ‘x’ are the men in working

(ekuk dke djus okys vknfe;ksa dh la[;k x gSA)

by formula
2

2211

W

DM

W

DM


  days201030
1

20)5x(

1

30x







3x = 2x + 10
x = 10

129. (c) Let additonal men be x





 








3

1
1workmainingRe

3

2

12)x25(

3

1
work

2525

130. (c) A : B

A.T.Q
no of unit of work done 1 : 2

(dke dk vuqikr)
time taken 1 : 6

(le; dk vuqikr)
we balance the time of A with B.

(ge A vkSj B ds le; dks larqfyr djrs gS)
We have to equal their work according

to their time (gesa muds le; ds vuqlkj

muds dke dks Hkh cjkcj djuk gksxk)
   A : B A + B work

work done  6 : 2   
time taken 6 : 6

If A work 1 unit in 1 unit time so he works 6 units

work in 6 units time (;fn A ,d bdkbZ le; esa ,d bdkbZ

dke djrk gS rks og 6 bdkbZ le; 6 bdkbZ dke djsxk)
A : B = 3 : 1  3 + 1 = 4 units/day

Together they complete in 10 days.

So, total work

(os ,d lkFk feydj dke dks 10 fnu esa djrs gSa vr% iwjk dke gS) =
4 × 10 = 40
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B alone will do whole work in

(B vdsyk iwjk dke djsxk)
1

40

= 40 days

131. (c) ATQ, ( iz'ukuqlkj)
If kamal is 100% efficient, then
Bimal 150% efficient(50% more),

(;fn dey 100» dq'ky gS rks fcey 50» vf/d

vFkok 150» dq'ky gS)





 

2

3

100

150

F

B

Kamal Bimal

efficiency   2 units/day 3 units/day

Total work. 15 days × 2 units/day
= 30 units

Bimal will do that work (fcey bl dke

dks iwjk djsxk) =
132. (c) let 1 men does 1 unit of work per

day (ekuk 1 vkneh izfr fnu esa 1 bdkbZ dk;Z djrk gS)

Total work (dqy dk;Z): 8 × 12 = 96 units

6 days work of 8 men (8 O; fDr;ksa dk 6

fnu dk dk;Z)   8 × 6 = 48 units.

work left (cpk dk;Z)   96 – 48 = 48 units

After 6 day 4 men join. so total men

is 12 men (8 + 4 ) they will do 12
unit of work per day

(6 fnu ckn 4 O;fDr;ksa ds 'kkfey gksus ls dqy

O;fDr;ksa dh la[;k 12 gks tkrh gS os l Hkh izfr fnu

12 bdkbZ dk;Z djrs gS)
Now,

remaining work completed in (vc

cpk gqvk dk;Z iwjk gksrk gS)
48

12
  = 4 days

133. (b) Let no. of persons be ‘N’ (ekuk O;fDr;ksa

dh dqy la[;k ‘N’ gS)

 6 4455

1 1

   


5N = 4N + 24
N =24

134. (a)

8Μ × 9h 20days 7 10h x

1unit work 1unit work

   


144 4
20

7 7
x= days

135. (b) According to formula

Let ‘D’ is no of days. (ekuk fnuksa dh la[;k ‘D’ gS)

639 ×12 × 5 30 6 D

1raod 1raod

 


D = 213 days
136. (a) Here work is 280 m length of wall

and 100 m length of wall (;gk¡ 280m rFkk 100m yEckbZ

dh fnokj dk dke gS)
Let ‘M’ men will finish 100 m road.

(ekuk ‘M’ O;fDr 100m yEck nhokj cukrs gS)

72 21

280


=

100

M×18
 M = 30

 M = 30

137. (c)

6 9

8400

person hr person hr×8 ×6

Amount


Amount earned by 9 person (9 O;fDr dqy dekrs gS) =

Rs. 9450

138. (a)

5

1

person days hr×8 ×7
=

5 2 4

1

person days perday×H( ) 

10 = H per days
139. (d)

4

4

mat-weavers day

mats

×4
=

8mat-weavers days

mats

×8

N

  N = 16 mats

140. (a)

10

1

men hr days×6 ×18

work
=

15

1

men days×12 ×H hr/day

 work

= 6hrs/day
141. (d) Let there were ‘N’ number of men in beginning.

(ekuk 'kq: esa O;fDr;ksa dh la[;k N gS)

  N men × 60 days = (N + 8)men × (60 – 10)

6N = 5N + 40
N = 40

142. (a)

12

1

persons×4days

work
=

8

persons×2 days

 work

  Persons = 192

143. (b) Let total no. of worker in beginning is ‘N’ (ekuk

'kq: esa etwnjksa dh dqy la[;k ‘N’ gS)

According to question, (iz'ukuqlkj)

days daysN×100 (N–10)×110

work 1work


100N = 110N – 1100

10N = 1100

  N = 110

144. (b) According to Question, (iz'ukuqlkj)
Total work = 12M × 12D = 144 units

Work done by 12 men in 6 days (12

O;fDr;ksa }kjk 6 fnuksa esa fd;k x;k dk;Z gS)
= 12 × 6 = 72 units
Rest work = 144 – 72 = 72 units
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Requried time for 6 men to complete the work (6

O;fDr;ksa ds fy, dk;Z dks iwjk djus esa vko';d le gS) =
72

6
= 12

Hence,
Total time = 12 + 6 = 18 days
Extra time = 18 – 12 = 6 days

145. (d) By putting the value in formula as given in
question no. 71. Let ‘N’ persons are needed to

complete the work. (iz'u la[;k 71 esa fn;s x;s iQkeZwyk esa eku

j[kus ijA ekuk dke dks iwjk djus esa O;fDr;ksa dh la[;k ‘N’ gSA)
According to Question,

2

1

men×9days

work =

2

N men×12 days

work

1 work =
after solving,

N = 3 men
More man needed = 3 - 2 = 1 man

146. (b) Let’n’ number of man can be discharged.

(ekuk dke ls fudkys x;s O;fDr;ksa dh la[;k n gS)
According to question

60 60

3 1

4 4

men days men days×60 n ×30

work work

( )


formula

Q. 71

 
 
 

 of 40 = 60 – n

n = 20
147. (b) 60 men works for 200 days. They stops for 10

day due to bad weather.

so the work is to complete in ( 60 O;fDr 200 fnuksa rd

dke djrs gSA os ekSle [kjkc gksus ds otg ls dk;Z jksdrs gSA rks iwjk dk;Z

[kRe gksxkA) (50 – 10) = 40 days in order to complete

in scheduled time

i.e 250 days.
Let ‘n’ number of more man is required.

(ekuk t:jr O;fDr;ksa dh la[;k ‘n’ gS)
(60 men × 200 days) + (60 + n) men × 40 days)

= 60 men × 250 days

12000 + (60 + n) men × 40 day) = 15000
(60 + n )40 = 3000

60 + n = 75

  n = 15

Alternate:-

60men can complete a work in 250 days but they
work for 200 days.
Then remaining days = 50 days

So, 60×50 = (60+x)×40
x = 15

148. (c)

28

7 8 1 8

M×1week x×1week

/ /


x = 4 men
149. (d) According to question,

efficiency of a man, a woman and a child are (,d

vkneh] ,d vkSjr vkSj ,d cPps dk;Z {kerk dk vuqikr gS) 5 : 4 : 2.

units/days.
one day work of 2 men= 2×5 =10 units
one day work of 3 women= 3 ×4 =12 units

one day work of 4 children =4 × 2=8 ut.
applying formula, let time taken is ‘D’ days.

10 12 8 10

10

days

hectare

( )  

6 4 7

16
men women children

hectare

×5 ×4 ×2 D( ) ( ) ( )   
 
 

30 10 60

10 16

D( ) [ ] 


D=8 days184
150. (d) (Applying formula) let work don by ‘n’ men and

Women.

men hours days

units

P ×P ×P

P =

men hours daysn ×n ×n

'W' units

3
2

2

n3 n
P = W=

w P



